
න 5𝑑𝑥 = 5 න 𝑑𝑥

 

 

 

 

             = 5𝑥 + 𝐶

3 න 3𝑥ଶ𝑑𝑥 = 3
𝑥ଶାଵ

3
⎯⎯⎯⎯ + 𝐶

 

 

               = 𝑥ଷ + 𝐶 = 𝑥ଷ + 𝐶

න√𝑥⎯⎯  𝑑𝑥 =
 

 

න 𝑥
ଵ
ଶ
⎯⎯𝑑𝑥

 

 

                =
𝑥

ଷ
ଶ
⎯⎯

3
2
⎯⎯

⎯⎯⎯+ 𝐶

                =
2𝑥

ଷ
ଶ
⎯⎯

3
⎯⎯⎯ + 𝐶

න𝑥𝑑𝑥
 

 

=
𝑥ଶ

2
⎯⎯⎯+ 𝐶

න 5𝑥𝑑𝑥 =

 

 

5 න 𝑥𝑑𝑥

 

 

                =
5𝑥ଶ

2
⎯⎯⎯ + 𝐶

න(𝑥ଶ+5)
 

 

𝑑𝑥 =
𝑥ଷ

3
⎯⎯⎯+ 5𝑥 + 𝐶

න(𝑥 + 2)ଶ𝑑𝑥 =
 

 

න(𝑥ଶ + 4𝑥 + 4)𝑑𝑥
 

 

                          =
𝑥ଷ

3
⎯⎯⎯+

4𝑥ଶ

2
⎯⎯⎯ + 4𝑥 + 𝐶

                          =
𝑥ଷ

3
⎯⎯⎯+ 2𝑥ଶ + 4𝑥 + 𝐶

Integral: The Anti-Derivative. Who's Derivative is this? Take the Derivative to Check your Answer.

න
𝑥ଶ + 2𝑥

𝑥
⎯⎯⎯⎯⎯⎯⎯

 

 

𝑑𝑥 = න(𝑥 + 2)
 

 

𝑑𝑥

                          =
𝑥ଶ

2
⎯⎯⎯+ 2𝑥 + 𝑐

𝑦 =
𝑥ଶ

2
⎯⎯⎯+ 𝐶

𝑦ᇱ =
2𝑥

2
⎯⎯⎯

𝑦 = 𝑥

𝑥ଶ + 2𝑥

𝑥
⎯⎯⎯⎯⎯⎯⎯

𝑥ଶ

𝑥
⎯⎯⎯+

2𝑥

𝑥
⎯⎯⎯

𝑥 + 2

FOIL න(2𝑥 + 3)ଶ
 

 

𝑑𝑥 =
(2𝑥 + 3)ଷ

3 × 2
⎯⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

Think: what would you have to 
divide by to reverse chain rule.

5𝑥଴

5𝑥଴ାଵ

1
⎯⎯⎯⎯⎯ = 5𝑥

Separate Fractions

In your
Head!

න(𝑥 + 2)ଶ𝑑𝑥 =
 

 

 (𝑥 + 2)ଷ

3
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

                           =
𝑥ଷ + 3𝑥ଶ(2) + 3𝑥(2)ଶ + 8

3
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

                          =
𝑥ଷ

3
⎯⎯⎯+ 2𝑥ଶ + 4𝑥 +

8

3
⎯⎯+ 𝐶
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